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Tong hop dé thi va dap én, hiréng dan gidi ky thi TIMO, HKIMO, BBB khai 3 cac ndam
PE SO 1:
PRELIMINARY ROUND / VONG LOAI QUOC GIA

Logical Thinking/ Tw duy logic

Q1. The age of Ashley 5 years ago is equal to the age of Amy 4 years later. When
Ashley is 20 years old, how old is Amy?

Tuéi ciia Ashley 5 ndam truéc bang ding tudi ciia Amy 4 nam nira. Héi khi Ashley 20
tusi thi Amy bao nhiéu tusi?
A. 11 B. 29 C.19 D. 21

Q2. Today is 3rd April, Monday. Which day of the week will it be on the last day of
this month?

HQm nay la thit Hai, ngay 3 thang Tw. Hoi ngay cudi clng cua thang nay 1a thi
may?

A. Monday / Thi Hal B. Saturday / Thi Bay

C. Tuesday / Thur Ba D. Sunday / Chu Nhqgt

Q3. According to the pattern below, how many squares are there in the first 28
figures

counting from the left?
Duwea vao quy ludz dudi day, hoi cé bao nhiéu hinh vudng trong 28 hinh dau tién tinh
tzr phia bén trai?

ALJoOOALOLALI...

A. 15 B. 14 C.8 D.9
Q4. Consider the pattern below, find the sum of the first 6 numbers in the sequence?
Duwea vao quy ludt dudi ddy, tim tong cua 6 sé dau tién trong day.

1,3,9,27, ...
A. 365 B. 360 C. 362 D. 364
Q5. Thor wrote a 2-digit number on a piece of paper and asked Loki to guess it.
Loki asked: “Is the number 72?”
Thor replied: “One of the digits is correct. The position of that digit is wrong.”
Loki asked again: “Is the number 427”
Thor replied: “One of the digits is correct. The position of that digit is correct.”
Given two digits in the number are different, find the number written by Thor.
Thor viét mét sé 6 2 chiz sé 18n mét manh gidy va dé Loki dodn xem dé la sé ndo.
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Loki héi: “Sé dé c6 phdi s6 72 khéong?”

Thor tra l6i: “Mgt trong hai chir s6 giong vai sé trén manh gidy. Nhung vi tri cia

char so do lai sai.”

Loki héi: “Sé dé c6 phdi s6 42 khong?”

Thor tra loi: “Mgt trong hai chiz sé gidng véi sé trén manh gidy. Vi tri cia chir sé

do ciing dung.”

Biét rang sé can tim c6 hai chir sé khac nhau, tim sé ma Thor da viét.

A. 74 B. 22 C. 47 D. 2713

Arithmetic/ S6 hoc

Q6. Calculate 327 — 169 — 132 + 173 + 6609.

Tinh 327 — 169 — 132 + 173 + 669.

A. 868 B. 968 C. 869 D. 768

Q7. Find the sum of 10 consecutive natural numbers from 11 to 20.

Tinh tong cua 10 s e nhién lién tiép tir 11 dén 20.

A. 105 B. 300 C. 310 D. 155

Q8. Calculate 36 x 42 —4 x 9 x 17 — 15 x 36.

Tinh 36 x 42 -4 x 9 x 17 — 15 x 36.

A. 360 B. 3600 C. 180 D. 350

Q9. Find the value of 1001 x 123.

Tim gié tri cua 1001 x 123.

A. 123321 B. 123123 C. 321123 D. 321321

Q10. Find the valueof 1 +2 + 4+ 8 + 16 + 32 + 64 + 128.

Timgiatricuial+2+4+8+ 16 + 32 + 64 + 128.

A. 255 B. 256 C. 254 D. 257
Number Theory/ Ly thuyét sé

Q11. How many 2-digit even numbers are there?

Hai ¢6 bao nhiéu sé chan cé 2 chir s67?

A. 50 B. 45 C. 44 D. 49

Q12. The sum of A and B is 60. A is 2 times of B. Find the value of B.

Tong cua A va B 12 60. A gdp 2 lan B. Tim gia tri cia B.

A. 30 B. 40 C.10 D. 20

Q13. According to the following pattern, find the value of the next term.
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Duwa vao quy ludt duwdi ddy, tim gid tri cua sé hang tiép theo.
1,6,16,31,51,76, 106, ...
A. 111 B. 121 C.131 D. 141

Q14. Phineas and Ferb took a test and received the results. The sum of their marks
Is 162 and Phineas got 22 marks higher than Ferb did. How many marks did Phineas
receive?

Hai ban Phineas va Ferb nhdn két qud cua bai kiém tra. Téng sé diém cua hai ban
la 162 diém va Phineas cao hon Ferb 22 diém. Héi so diém Phineas nhdn dwoc 12
bao nhiéu?
A. 70 B. 90 C.92 D. 72
Q15. Define the operation symbol a @ b =a x b —b. Find the value of (5®7).
Dinh nghia phép toan moi nhu sau: a @b =a x b —b. Tinh gia tri cua (5&7).
A. 28 B. 30 C.12 D. 35
Geometry/Hinh hoc
Q16. How many line segments are there in the figure below?

Héi ¢6 bao nhiéu doan thang trong hinh dwdi day?

A 4 B.6 C.8 D.9
Q17. How many squares are there in the figure below?

Hoi co bao nhiéu hinh vuéng trong hinh dudi day?

A 4 B.5 C.6 D. 10

|
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Q18. A parking lot has the dimension as the figure below. Find its perimeter in
meter.

Mot béi do xe 6 kich thuwde nhwe hinh dwdi. Tim chu Vi cia bai do xe theo don vi

mét.
13 Om

90m

60m

A. 360 B. 280 C.90 D. 450
Q19. A box in the figure below has 8 vertices. How many sides does it have?
Chiéc hép dudi déy c6 8 dinh. Héi hép dé c6 bao nhiéu canh?

A.6 B.8 C.9 D. 12

Q20. In the middle of a square garden with perimeter 80m, they built a square pool
with perimeter 32m as the figure below. What is the area value of the shaded region
in m2?

O chinh giira mét manh vieon hinh vuéng chu vi 80m, nguoi ta xay mét hé boi hinh
vuéng chu vi 32m nhw hinh dwéi dday. Héi dién tich cia phdn dwgc té6 dim 1a bao
nhiéu mét vuong?

A. 336 B. 48 C. 400 D. 144
Combinatorics/ Té hop

[EEN
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Q21. How many 2-digit numbers without digit O are there?

Hai c6 bao nhiéu sé c6 hai chiz s6 ma khdng co chi so 0?

A. 90 B. 80 C.81 D.91

Q22. After Candace gave 4 pens to Phineas, they had an equal number of pens. How
many pens did Candace have originally, given that their sum of pens is 18?
Candace cho Phineas 4 céi but thi ho ¢6 sé bat bang nhau. Héi liic dau Candace c6
bao nhiéu cai but, biét rang tong so but cua hai ban la 18 cai?

A. 14 B. 11 C.13 D. 22

Q23. How many ways are there from A to B given that each step you can only move
up or move right along the lines?

Héi ¢6 bao nhiéu cdch di tir diém A Q’én diém B biét rang ban chi c6 thé di lén trén
hodc di sang phdi theo cac dwong thang?

A 11 B.8 C.9 D. 10

Q24. Sam has 6 candies. Each day she can only eat 1 candy or 2 candies. In how
many ways can she eat all those candies?

Sam c6 6 chiéec keo. Mé~§ ngay 6 bé co thé an 1 chiéc keo hodc 2 chiéc keo. Héi co
bé co bao nhiéu cach dé an hét cho keo do?

A. 2 B. 10 C.13 D.9

Q25. Choose 2 digits, without repetition, from 0, 2, 4, 6 to form 2-digit numbers.
How many even numbers are there?

Léy 2 chir s6 tir c&c chi s6 0, 2, 4, 6 sao cho khong chiz s6 ndo by 1ap lai dé 1dp céc
so €0 hai chir so. Hoi trong do co bao nhiéu so chan?

A. 8 B.9 C.6 D. 12
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PAP AN DE SO 1:
RELIMINARY ROUND / VONG LOAI QUOC GIA
Logical Thinking/ Tw duy logic

Q1.
Solution:
20-5=15
15-4=11
Key: A
Q2.
Solution:
30-3=27
27T =7=3....... 6
Monday Tuesday Wednesday Thursday Friday Saturday Sunday

todLy 1 2 3 4 5 i6

later

Key: D
Q3.

Solution:

ALIO

The pattern : 4 figure
28.4=17
7x2=14
Key: B

Q4.
Solution:
1x3=3
3x3=9
9x3=27
27 x3=281
81 x3=243
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1+3+9+27+81+243=(1+3)+(9+81)+ (27 + 243)
=4+90+270=2364

Key: D

Q5.

Solution:

47

Key: C

Arithmetic/ Sé hoc

Q6.

Solution:

327 —-169 — 132 + 173 + 669 = (327 + 173) + (669 — 169) — 132 = 500 + 500 — 132

= 1000 - 132 = 868

Key: A

Q7.

Solution:

11+12+13+14+15+16+17+18+19+20=(11+ 20) + (12 + 19) + (13 +

18) + (14 +17) + (15+16) =31 +31+31+31+31 =31 x 5=155

Key: D

Q8.

Solution:

36%x42-4x9x17-15%x36=36%42—-36%17—-15x 36 =236 % (42— 17 —15)

=36 x 10 = 360

Key: A

Q9.

Solution:

1001 x 123 = (1000 + 1) x 123 =1000 x 123 + 1 x 123 = 123000 + 123 = 123123

Key: B

Q10.

Solution:

A=1+2+4+8+16+32+64+128

2xA=2%x(1+2+4+8+16+32+64+128)
=2+4+8+16+32+64+128 + 256
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2XA-A=2+4+8+16+32+64+128+256-1-2-4-8-16—-32—-64—
128 = 256 — 1 = 255

A =255

Key: A

Number Theory/ Ly thuyét sé

Q11

Solution:

ab
b:5(0;2;4;6;8)
a:9(1;2;3;4;5;6;7;8;9)
9x5=45

Key: B

Q12.

Solution:

2+1=3
B=60=3=20
Key: D

Q13.

Solution:

1+5=6
6+10=16

16 +15=31
31+20=51
51+25=76

76 + 30 =106

106 + 35 = 141
Key: D

Q14.

Solution:

Phineas : (162 + 22) + 2 =92
Key: C

Q15.

Solution:

CodeMath - Luyén thi Todn Olympic quéc té

w o1

@& codemath.vn (® 0972.625.630




Tong hop dé thi va dap én, hiréng dan gidi ky thi TIMO, HKIMO, BBB khai 3 cac ndam

S®7=5%x7-7=35-7=28
Key: A

Geometry/Hinh hoc

Q16.

Solution:
3+3+2=8
Key: C

Q17.

Solution:
4+1+4+1=10
Key: D

Q18.

Solution:
90+30+30+60+30+60+30+30=2360
Key: A

Q109.

Solution:

Base Faces Vertices Edges
N N+ 2 2xN 3xN
4 2xN=8 3x4=12
Key: D
Q20.
Solution:
80+4=20
32+4=8
20 x 20— 8 x 8 =400 — 64 = 336
Key: A

Combinatorics/ To hop

Q21.

Solution:

ol
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9x9=81

Key: C

Q22.

Solution:
4x2=8
(18+8)+~2=13
Key: C

Q23.

Solution:

Key: D
Q24.
Solution:

10 B

1

1

1+2=3 2+3=5

3+5=8

5+8=13

Key: C
Q25.
Solution:

ab
b=0;b:1
a:3(2;4;6)
3x1=3
b=2;4;6;b:3
a:2
2X3=6
3+6=9
Key: B
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